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Chapter 2 Chapter 2 Chapter 2 Chapter 2 ReviewReviewReviewReview 

 

Show all of your work.  
 

1. Write as repeated multiplication, then in standard form. 

a. 43 

b. 72 

c. –(-2)5 

2. Write as a power, then in standard form. 

a. 3 X 3 X 3 X 3 X 3 X 3 = 

b. (-8) (-8) (-8) = 

c. – (2 X 2 X 2 X 2 X 2 X 2 X 2) = 

3. Explain the difference between 58 and 85. 

 

4. Is the value of -42 different from the value of (-4)2?  And is the value of -43 different from the 

value of (-4)3?   

 

 

5. Write each number in standard form. 

a. (4 X 103) + (7 X 102) + (2 X 101) + (9 X 100) = 

b. (3 X 105) + (2 X 102) + (8 X 100)  = 

6. Evaluate: 

a. 23 + ( 5 – 2 )4 = 

b. 100 ÷ 2 + ( 4 + 1)3 = 

c. ( 62 + 72)0 – ( 84 + 24 )0 = 

________________________________________
Midterm Review - Unit 2



 

7. Identify then correct any errors in the student work below. 

(-2)2 X 23 – 32 ÷ (-3) + (-4)2 

=(-2)5 -9 ÷ (-3) + 16 

= -32 -3 + 16 

= -35 + 16 

= -19 

 

8. Write each quotient as a power, then evaluate the power. 

a. 75 ÷ 73 

b. (-10)9 ÷ (-10)3 

c. 
=>

=?
 

9. Write each expression as a product or quotient of powers, then evaluate it. 

a. (3 X 5 )3 

b. ( 12 ÷ 3 ) 5 

c. [(-4) X 2]4 

 

10.  Write each expression as a power. 

a. (32)3 

b. (40)6 

c. [(-2)3]3 



11.  Write each expression as a power, then evaluate. 

a. 
B C

BD  E  B ?  
 

b. 
(FG)D  E  (FG) H  

(FG)?  E  (FG) >  
 

c. 
IJH  E  IJ K  

IJD L IJ ?  
 

12.  Simplify, then evaluate each expression. 

a. 23 X 22 – 20 + 24 ÷ 23 

b. 
(FM)D  E  (FM) ?  

(FM)D F  (FM) ?  
 

c. 122 X 124 ÷ (-2)4 - 120 

 

 

 


